H1

=
N = 0 &
S0 S E=Ea
S ARl A
Doiag Bl
KB (SIS H)

Qb O 0

A E E Al

A

SA - EB . ER(EN) - MEAY - BAS e HIREY
of &t o
atot T AP A 1,575,000 1,430,000 145,000
3305 22l 1,150,000 1,405,000 A 255,000
St HAI (ol S 23 Hl ) 1,150,000 1,405,000 A 255,000
St AIE2g e 45,961 46,155 A194
101 el t| 11,661 16,015 A4,354
10 JI2ZHH22sSEs 11,661 16,015 AN4,354
CHEEPE IRt
38,8702 2 x150 11,661
201 Let3EH| 24,300 15,140 9,160
01 At®2teldl 8,300 3,140 5,160
Oget=EH| 3,000
OJ|2HHI L AIAFSE QI 2T = H| 150, 000& x2H 300
OfIE w=H| 5,000
02 =229l 16,000 12,000 4,000
03323 & HA 4,500
OA&EHIS Xl 3,500
O Xt & Ety| 4,000
(©FSgelEageay=—k-1l:]l 4,000
202 Oidl 10,000 14,000 24,000
01 =Wobl 4,000 4,000 0
Qdt=C At 2tAZ LG HI 4,000
03 =220l 6,000 10,000 24,000
Ot Al 2 AZ A H R K HI 6,000
ot AIEELE B A 210,000 200,000 10,000
401 Al&BIZL20HYI 210,000 200,000 10,000
01 A&l 210,000 200,000 10,000
Qot=S A=A B At 210,000
Ot AIEINEAIS 858,039 1,130,245 AN272,206
401 Al &BIZ20HYI 858,039 1,130,245 A272,206
01 Al&H| 858,039 1,130,245 AN272,206
Qot=S A &M AS 858,039
ollgl Bl 36,000 28,600 7,400
801 0Oilblbl 36,000 28,600 7,400




A Mot A A
Ha: BBALE e
Etel: St HA (Gl S E3) (el &
_ = P e
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
01 olidlH 36,000 28,600 7,400
©uldlsl 36,000
Hees 425,000 25,000 400,000
HEHHXE (Aot Z AR L) (St SE3IH) 425,000 25,000 400,000
A=CEHIHNEZ(0H,E) 25,000 25,000 0
701 JIEtRIHEES 25,000 25,000 0
01 JIEtIHEES 25,000 25,000 0
Od+=SEINTES 25,000
ot=C=SE3AHUE =S 400,000 0 400,000
704 OIE=S 400,000 0 400,000
01 t&= 400,000 0 400,000
Oct+===Sg3lHNE= 400,000




